MANA-GRVL Integrated Bar Architecture

MANA-GRVL

2 x M5 Bolt e—ﬁ

(20mm)
(3NmM)

MANA-GRVL Bar/Stem comes with the following parts:

MANA-GRVL Bar/Stem Unit

1 x Headset Top Cap & Bolt
3 x 5Bmm Spacer

3 x10mm Spacer

© o N o o b w N

Ext cable exit grommmet

2 x M5 Bolts for Computer Mount (3Nm)
2 x M5 Nut & Bolt for stem attachment (6Nm)

7mm Spacer for use w/Standard Frame
Intergrated Headset cover for use w/TERE, RERE, HURU, AO

2 x M5 Bolt

(14mm)
3x5mm (6Nm)
Spacer

3 x10mm
Spacer

7mm Spacer
for use
w/ Standard
Frame

Integrated
Headset
cover for use
W/ TERE, RERE,
HURU, AO

chapter2bikes.com



